
BOX 1
DESCRIPTION QTY PART #

FRONT UPRIGHT SUPPORT L& R 2 AT-MPC-W01 L & R
REAR UPRIGHT SUPPORT 2 AT-MPC-W02
CONNECT TUBE 1 AT-MPC-06
BOLT 1/2 X 1 1/4 2 1-A206
BOLT 3/8 X 1 16 1-A205
NUT 3/8 16 1-A022

FRONT UPRIGHT SUPPORT LEFT & RIGHT

CONNECT TUBE

REAR UPRIGHT SUPPORT

CASTER

CASTER W/BRAKE

ADJUSTMENT BOLT 1/2 X 1 1/4

3/8 BOLT & NUT

MOPAR BODY CART
Comes standard with four (4) 8" polyurethane over cast iron casters, rated at 1,200 lbs each. The cart is rated at 3,000 lbs with 8" cast iron wheels.    
This cart is fixed height putting the rockers at 24" high.

The cart uses the body itself by using only the four (4) upright supports that bolt onto the Mopar body. The front bolts on where the K frame 
member comes off. The rear legs bolt on where the front leaf spring bracket is located. The connect tube in front is included, but there is no connect 
tube in the back or from front to back.


	Sheet 1
	Views
	VIEW_TEMPLATE_1





